Math 160 ‒ Review Exam #2

Name (Last, First): __________________________________



1)
Determine from the scatter diagram, if at all, how the variables are related.
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A)  The variables appear to be positively, strong, and linearly related.



B)  The variables appear to be negatively, strong, and linearly related.



C)  The variables appear to be positively, moderate to weak, and linearly related.



D)  The variables appear to be negatively, moderate to weak, and linearly related.



E)  The variables appear to be very weak and not linearly related.
2) 
In which scatter diagram is r = –0.812?
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For problems 3 and 4 only, use the following data set:
	x
	0
	1
	2
	3
	5
	7
	9

	y
	3
	2
	5
	7
	9
	10
	12


3)
Determine the regression equation for the data.

 (If you are not using a graphing calculator, the formula is 
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, where

slope is 
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  and  y-intercept is  
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4)
Find the correlation coefficient for the data.

(If you are not using a graphing calculator, the formula is 
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5)
A manager wishes to determine whether there is a relationship between the number of years her sales

representatives have been with the company and their average monthly sales. The table shows the years

of service for each of her sales representatives and their average monthly sales (in thousands of dollars). 
	x
	6
	7
	14
	11
	12
	19
	7
	5
	15

	y
	29
	31
	76
	60
	63
	59
	46
	53
	118



The correlation coefficient for the above data is 
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. Based off this correlation, does a linear relation exist?
A)  Yes, a linear relation exists.


B)  No, a linear relation does not exist.

6)
A bag contains 6 red marbles, 3 blue marbles, and 7 green marbles. If a marble is randomly selected


from the bag, what is the probability that it is blue? 


A)  
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C)  
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D)  0

E)  None of these.

7)
Experiment: Roll two standard dice. What is the probability that you roll a sum of 3 or 8?


A)  
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E)  None of these.

8)
Experiment: Roll two standard dice. What is the probability that you roll a sum of at least 10?


A)  
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E)  None of these.

9)
Experiment: Draw a card from a standard deck. What is the probability that a red 7 is not drawn?


A)  
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E)  None of these.

10)
Experiment: Draw a card from a standard deck. What is the probability that a red card or a card of royalty is drawn? (Cards of royalty : King, Queen, or Jack)
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E)  None of these.

11)
Experiment: Draw two cards from a standard deck without replacement. If the first card is a club, what is the 
probability that the second card is a heart?


A)  
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E)  None of these.

12)
Experiment: Draw a card from a standard deck. What is the probability that the card is a club, given the card is not
red?


A)  
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E)  None of these.

13)
Suppose that events E and F are independent, P(E) = 0.1 and P(F) = 0.7. What is the P(E and F)?


A)  0

B)  0.07

C)  0.1

D)  0.7

E)  0.8
14)
Event A has probability 0.3. Event B has probability 0.7. If A and B are mutually exclusive, then the

probability that either A or B will occur is:


A)  0

B)  0.21

C)  0.3

D)  0.7

E)  1
15)
Experiment: An urn contains 12 fuchsia marbles and 5 magenta marbles. Two marbles are drawn without replacement. What is the probability that both marbles are magenta?


A)  0.2206
B)  0.4983
C)  0.4853
D)  0.0865
E)  0.074
16)
Experiment: An urn contains 4 blue marbles and 8 orange marbles. Two marbles are drawn without replacement. What is the probability that a blue and orange marble are drawn?


A)  0.4444
B)  0.2424
C)  0.1212
D)  0.4848
E)  0.2222
For problems 17 through 21:
The produce manager at a farmer’s market was interested in determining how many oranges a person buys when they buy oranges. He asked the cashiers over a weekend to count how many oranges a person bought when they bought oranges and record this number for analysis at a later time. The data is given below in the table. The random variable X represents the number of oranges purchased and P(x) represents the probability that a customer will buy x oranges. 

	x
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	P(x)
	0.05
	0.19
	0.20
	0.25
	0.12
	0.10
	0
	0.08
	0
	0.01


17)
The table above is a probability model because:


A)  the sum of the probabilities in a probability distribution equals 1.


B)  the variable x is discrete.

18)
Compute P(5 ≤ x ≤ 8).


A)  0.1

B)  0.3

C)  0.18

D)  0.22

E)  0.2

19)
Compute the probability that a customer purchased three or more oranges.


A)  0.69

B)  0.25

C)  0.24

D)  0.2

E)  0.76

20)
Determine the mean number of oranges purchased by a customer.


A)  3.57

B)  1.34

C)  1.89

D)  3.79

E)  3.97

21)
Determine the standard deviation for the probability distribution.


A)  3.57

B)  1.34

C)  1.89

D)  3.79

E)  3.97

22)
80% of people who purchase pet insurance are women. If 9 pet insurance owners are randomly selected, find the probability that at least 6 are women.


A)  .0856
B)  0.2618
C)  0.1762
D)  0.7382
E)  0.9144

23)
In a recent survey, 60% of the community favored building a health center in their neighborhood. If 14 citizens are 

chosen, find the probability that exactly 5 of them favor the building of the health center.


A)  0.207
B)  0.357
C)  0.6

D)  0.041
E)  0.456

24)
60% of people who purchase sports cars are men. If 12 sports car owners are randomly selected, find the probability that at most 2 are men.


A)  .0025
B)  0.0028
C)  0.0153
D)  0.9847
E)  0.9972

25)
According to government data, the probability that an adult was never in a museum is 15%. In a random survey of

10 adults, what is the probability that at least eight were in a museum?

A)  0.82

B)  0.2

C)  0.002
D)  0.8

E)  0.18

26)
According to insurance records, a car with a certain protection system will be recovered 85% of the time. If 500

stolen cars are randomly selected, what is the mean number of cars recovered after being stolen?


A)  2075

B)  589

C)  425

D)  7.98

E)  63.75

27)
According to insurance records, a car with a certain protection system will be recovered 85% of the time. If 500

stolen cars are randomly selected, what is the standard deviation for the number of cars recovered after being 

stolen?


A)  2075

B)  589

C)  425

D)  7.98

E)  63.75

For problems 28 through 30 only:

The managers of a corporation were surveyed to determine the background that leads to a successful manager. Each manager was rated as being either a good, fair, or poor manager by his/her boss. The manager’s educational background was also noted. The data appear below.

	
	H.S. Degree
	Some College
	College Degree
	Master’s or Ph.D.
	Total

	Good
	6
	2
	23
	8
	39

	Fair
	5
	14
	46
	22
	87

	Poor
	7
	1
	9
	17
	34

	Total
	18
	17
	78
	47
	160


If a manager is selected at random:
28)
Find the probability that the manager has a Master’s or Ph.D.

A)  0.2438
B)  0.05

C)  0.8298
D)  0.2938
E)  None of these.

29)
Find the probability that the manager has a H.S. degree and is a poor manager?

A)  0.3889
B)  0.2059
C)  0.0438
D)  0.325
E)  None of these.

30)
Find the probability that the manager is a good manager, given that the manager has some college background?

A)  0.1176
B)  0.0513
C)  0.0125
D)  0.35

E)  None of these.



(  Answers:
1) B;   2) D;   3) B;   4) D;   5) B;   6) A;   7) C;   8) A;   9) B;   10) D;   11) D;   12) C;   13) B;   14) E;   15) E;   16) D;   17) A;   18) B;   19) E;   20) E;   21) C;   22) E;   23) D;   24) B;   25) A;   26) C;   27) D;   28) D;   29) C;   30) A.
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